Dividing Money (B)

—_

i

10.

Calculate each quotient.

62 ) $5865.20 2. 58 ) $4408.00 3. 75 ) $1815.00
49 ) $3047.80 5. 22 ) $1060.40 6. 84 ) $7711.20
21 ) $403.20 8. 58 ) $5254.80 9. 50 ) $810.00

If 96 identical backpacks cost $3532.80, how much did each backpack

cost?
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Dividing Money (B) Answers

10.

$ 94.60

62 ) $5865.20

—$5580.00

$285.20
—$248.00

$37.20
—$37.20

$0.00

$ 62.20

49 ') $3047.80

—$2940.00

$107.80
—$98.00

$9.80
—$9.80

$0.00

$ 19.20

21) $403.20
—$210.00

$193.20

—$189.00

$4.20
—$4.20

$0.00

Calculate each quotient.

$ 76.00

58 ) $4408.00
—$4060.00

$348.00
—$348.00

$0.00

$ 48.20

22 ) $1060.40
—$880.00

$180.40
—$176.00

$4.40
—$4.40

$0.00

$ 90.60

58 ) $5254.80
—$5220.00
$34.80
—$34.80

$0.00

3.

6.

$ 24.20

75) $1815.00
—$1500.00

$315.00
~5§300.00

$15.00
—3$15.00

$0.00

$ 91.80
84 ) $7711.20
—$7560.00

$151.20
—$84.00

$67.20
—$67.20

$0.00

$ 16.20

50 ) $810.00
—$500.00

$310.00
—$300.00

$10.00
—$10.00

$0.00

If 96 identical backpacks cost $3532.80, how much did each backpack

cost? $36.80
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